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Egebra

1-2: Sets and Domams

2592
qiccles

Warm-Up
Graph on a number line.
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5. List 3 possible solutions for rif 7 <r.
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6. List 3 possible solutions for s if -4 <s < 3.
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Vocabulary
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Set
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1. Graph all solutions to x > 4 for the given domain.
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b. Integers
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2. King's Used Cars sold from 24 to 30 cars each week last month. Let n = # of cars sold.

a. Give the domain of n. :4;35) ZA! 17'. 2%, 17,30
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b. Write an inequality to describe n.
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a. Write an inequality to describe the interval above. S 4 a’ é

b

b. Ts the im*er‘val;»en, close\d, or neither? n&“ ‘\"\C V
both \ov"'"‘) | o( eadr\
¢ lox

ciedlos C(wrdo')




